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Extended Abstract





image2.png
1) Two different shops are selling the same
cans of drink. Each shop is running a

different special offer.
Shop 1:

SPECIAL OFFER

Get 3 cans for
the price of 2!

90p

Shop 2

SPECIAL OFFER

Get 5 cans for
the price of 3!

£1.10

@) Which shop will give me the cheapest price for
each individual can of drink and by how much?

b) I decide to buy 30 cans of drink for a party. If T use
the special offers, how much will it cost me to buy
the drinks from each shop?

<) Shop 3 sells 6 cans for the price of 4.

Shop 3:
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2)

Out of the three shops, which is it cheapest for me
to buy 30 cans from?

There are two bags of marbles.

(e

In the first bag, for every 3 red marbles there are 2
green marbles.

In the second bag, for every 1 red marble there are
2 green marbles.

There are the same number of marbles in each bag.

The second bag of marbles contains 10 green
marbles.

How many red marbles are in the first bag?




